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At the start of the examination check your Question Booklet and OMR Answer Sheet and ensure that all the questions
from S.No. 10 last S.No. 100 are printed and all the pages are present in the Question Booklet. In case of any discrepancy
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Q. Nos. 6 to 10 ;

Study the following table
and answer the questions based on it.

fe e T e e 5 oaw (<TrE &2 1),
Expenditures of » Company (in Lakh Rupees) per
annum over the given years

o ——— |
amaqu' / Ttem of Expenditure

FCEREY EaEn
qiEe / &/ | WY

Fuel and Interest |Taxes
Transport on Loans
100 13.4

112 225
105 31.6
135 2.68 26.4 78
152 2.96 39.4 88

2011 ﬁsqtnﬂn—cﬁmwam, 2015 &
- Y B T v wiera o 7
Total expenditure on all these items in

2011 was approximately what percent of
the total expenditure in 2015 2

(A) 7033% @) 75.75%

(C) 6833% (D) 72.67%

T 3G 3 O et =6 iy o R
3ftera ufr ferert gt a2

(A) T26.669M@ (B) % 30.12@
(€€) 22429 (D) T 28.82 G
‘What 'is the average amount of interest

per year which the company had to pay
during this period ?

(A) T26.66lakhs (B) ¥ 30.12 lakhs
(C) T22421akhs (D) % 28.82 lakhs

@ afy F R S g yeE e
«E 1 e T, T4 et % S e
H T8 Ia H pA R w1 A e
B TG ‘
The total amount of bonus paid by th.e
company during the given period is
approximately what percent of _total
amount of salary paid dyring this period ?
(A) 0.3% 1.5%

©) 0.1% (D) 0.6%

Rl

Year

I/
Salary

|E/

Bonus

2011
2012
2013
2014
2015

300
340
524
340
450

2
1.52
2.84

85
110
75

8.

= TR R 7
(A) T 586.02 M@ (9)’ % 582.08 @&
(C) T500.4vrg (D) X 73844711
company over these ite
year 2013 ?

(A) % 586.02 Lakhs (B) T 582.08 Lakhs
(C) 5004 Lakhs (D) 738.44 Lakhs _
T ant % o o W pe o sl wht
9T 6 fore o ok it W g o
T ITIATA SHHY: THTHT 2

ms during the |

Taxes for all the years and the tota] |
expenditure on Fuel and Transport for all the

AD) 15:18
S H. 11915 : T =106 X O 1§ ot w5

T (TS T E) B o R T R )

time for car is not taken as consideration.)

a
il

_ Aﬁ“’“”"g P\%qq;r

The ratio between the total expenditure on

- Q. Nos. 11 to 15 : A person bought five cars in a
day and put on rent for 10 days. Read the table -
and answer the questions carefully. (Standing -

T | 10 Rt H onm
I §W | et gt o oy
FRFET IR | SR | et w /
/ Mileage of afl'ﬂﬂ'qﬁ'[l Total time taken |
‘ Car Average |to cover the total
amount of |distance which is
diesel used| covered during
; per day 10 days
Fieet /{25 T /o, | 109w/ | 5092/ hours
Alto / km/litre litres - :
fw /|2 f6R. /0. | 10wt/ | 5592/ hours
Swift / km/litre litres - K ' 5
feamm /| 30 fpft. /=ft. | 129t/ | S0 /hours |
Tiago / km/litre litres - o __
Bt/ |20 FR At /ot | 25¥ftet/ | 809 /hours | -
Mini |. /km/litre litres
fRas /|25 At /AR, | 20T/ | 10092 / houre
Kwid / km/litre litres s )

What is the total expenditure of the -

oS
years respectively is approximately ) \
(A) 109:151 (B) 105:108 N \o®
©) 4:7

Gl 3T 10 Tt 3 fore Reoe w o | afm sy
i T¢ 3 TR F IT IS $ | (FR ¥ SR
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Find the ratio of the ti

Minj to traye] 875

Speed of it during the o

the time taken by car Swi
with the average

the given 19 days.

A) 7:9

(B) 3:1'&@(3?!3‘:@/ None of these

©C) 44.47

D) 56:99

loﬁﬁ%ﬁmaﬁ'@aﬁzmjﬁaﬂﬂa
Tt 6T 31T 7o 27 - |

What was the ratio of the average speed
of Alto and Tiago during 10 days 9

(A) 11:10  B) 25.13¢
©) 10:11 (D) 5.6
et i s e 10 R 3 s
3T ﬁmnﬁrﬁmwﬁrﬁm-@aﬁ
3R AT o @ 3 | e & w1, 3 us-
-?@i%‘gﬁaﬁﬁﬁgﬁaﬁtwwﬁé 1
ww&%ﬁaﬁmﬁ%aﬁaaﬁ@moo
¥ T 3, @ 3t 3R e grT w-aw
»{/Lj{j; A Porer & AT 319 it o v A ey
S*amt wmr w5t 3ie By |
Ao, (A) 2% (B) IH I HETE
\" o0 . .
é{» C) J2we (D) OEer
; Alto and Kwid is travelling towards each
other with speed same as their average
- speed during the given 10 days. After
~ meeting, they travel to each other’s
starting point. If initially distance between

both cars is 2300 km, then find difference
of time taken by Alto and Kwid to reach

12,

13.

14, uﬁwﬁqqﬁ.am'loﬁﬁﬁaaa%gﬁ

ﬁ’w.Aaﬂ'{WBm: 1501’-@[3’?“2_1\"S

300dﬁﬁmm%;?ﬁ$ﬂAaﬁzBﬁﬁ:

e w1fdl o <1 <67 AL T HINT |

If the total distances covered by al] the
cars in 10 days is covered by car A ang
car B in 150 hours -and 300 hoyy
respectively, then find the differenc,
between average speeds of car A and B,

(A) 51@?./%5%
(B) 61 T4t /gver / km/h -
A€y 50 5. faver / ke E“ﬁ}'@
(D) 60 fb.5ft. /=wer / km/h R
I5. 10 feHi & dnm feamit ok frFft g0 aw

angmmmm?
’\sh%?{g ?e ratio of the total distance
covered by Tiago and Mini during 10 days ?

A) 18:25 B) 9:5

&:) 9:25 ED% 18:5
ma‘.mﬁzo:ﬁtﬁ@aﬁ@wawﬁ?ﬁ
Gﬁzomﬁzooswwaﬁ%ammaﬂf
Eﬁrgﬁmﬁ#mﬁﬁmﬁa‘aﬁaﬁﬁqﬁaﬁgﬁ
méﬁmfrﬁa%ﬁ@rm%l(aézooo%

*ﬁﬁqaﬁémﬁmﬁmﬁa@n%aﬁt

1 8 F Sl e ) |

Q. Nos. 16 to 20 : Study the following line
graph which gives the number of employees
who Joined the company and left the company
in the begmning of each year during six years,
ere is no employee

from 2001 to 2006, ST
Joined the company or left the company during

the year 2000.)

zonuﬁmﬁﬁaﬁmﬁmﬁW=sono
Initial strength of Employees in 2000 = 5000

800
£ 600—s00—_600__ 600 —

00 IO il DS ___......_,5 5(}._.._..._500
400 450

7oV aY

LAY,

TOfY

|

lovees
[

650

550

!;\J.I.x
=

wraTiat
No. of Emp
<

2003 2006
=t / Years )
— =t F onfira g9 A st @ we

Number of employees who joined company : }

2001 2002 2004 2005

— et Gt wsfenti  won

Number of employees who left company

" 7 Aheir destination after meeting each other, ‘ during 2003 .-
(é) 22 hours (B) None of these f ) °2’£35’y- urln?g 5%%5 )
— D 2hows (D) 0 hour (C) 5000 ° ; 5300
04 ...  TT——

e T

»

16. 2003 %aﬁmm:ﬁﬁzm&mesﬁmﬂuﬁ%’j
et | el
The number of employees workmg n
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17. 2003 & %ot % &m w0 alé_a:ﬁamw :
e, 2006_ﬁ¢qﬁﬁw¢éa@m§
Y T w1 T e s o 7

The number of employees working in the.

company in 2003 was approximately wh t
percent of the number of emgloye:s

working in the company in 2006 ?
(A) 96.15%  (B) 97.35%
© 9375% /(D) 98%

QS arafy % o ferel of ad A S 3
wﬁag TN ot wH=tEy 6 IR FEA
H1 9T Big I H=iE] 6 arferesan
T ¥ 31T R R 7

The ratio of the least number of
employees who joined the company to
the maximum number of employees who
left company in any of the years during
the given period is

(A) 14/13 B) 9/13

<C 9/17 D)y 12/17

o a1 Rra) o ) e # St B
a1l FHHETEl i wen # vfoa gig /
i Ffwme 7

For which year, the

in the number of employees who left the
company compared to the previous year

Q}JI/ is maximum ?

7 G N

2002 ¥ 2003 @F HUALTE! 6 qE& d
T feran wiferera bt afg /w8 ¢

" The strength of employees increased /
0| decreased from 2002 to 2003 by
E¥E ~ approximately what percent 7

) 2% (B) 4% (C) 1% (D) 3%
W E. 21/ 25 : € ITOE T AT HE AR

3G T TR T 6 IS |

Q. Nos. 21 to 25 : Study the bar graph and

answer the questions based on it. '

18.

ercentage rise/fall i

farme At 3 S gro et w5 IwmRa (AT )
7 Production of Toys by company (in Lakhs) over the years
= =100
E 3 R0
=
E= 60
s
S 40
5 20 S
E 6 2017 2018
wd / Yeurs

21.

22.

23.

24.

25;

e s

2011 i gem it 2018 & Raeii & I
T T wiawra gig e ot 2
What was the approximate percentage

increase in production of toys in 2018
compared to that in 201Y?

(A) 137.5% BY 111.11%
(C) 18333% (D) 128.35%

frow 9§ 0 gern § fee o I #
e afg wew i oft ¢
In which year the percentage increase in

production was maximum as compared
to the previous year ?

(A) 2013 (B) 2017

(C) 2012 (D) 2015 _‘
feu 1o, foram ast A Raetmi 1 Saer oy
T 9N < I IcATeA  ATRIes o 7

In how many of the given years was the
production of toys more than the average
production of the given years ?

A) 2 (B) 4
©) 1 (D) 3

2013 ¥ 2014 7% Re ¥ e A
T Wiawrd Prrae forae off 2

What was the approximate percentage

decline in the production of toys from
2013 to 2014 ?

(A) 15% (B) 25%
(C) 10% (D) 20%
2015 3R 2016 1 oftgd IeAEH
frafafaa 4 § frg avt & gm0 & 3iga
IcdTeA & TereTshet sR= o 7

(A) 2014 3R 2015(B) 2014 37K 2016
(C) 2016 312017 (D) 2012 3R 2017

The average production of 2015 and
2016 was exactly equal to the average
production of which of the following
pair of years ? 3 _

(A) 2014 and 2015(B) 2014 and 2016

7 A,

(C) 2016 and 2017 (D) 2012 and 201

04

L
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- 29,

T (a) wwi

ot ey o
(A) 1 T51E Sy
{B)  WTEH wERiy
(©). AN w5 i
(D) iem g
Who among the following is the person

whose name was alsp ¢ >
Piyadass;i « 9 © "Devanampiya
(4) Mauryan Emperor Cha .
” andragupta
(B) Lord Mahavi, S0P

© Mauryan Emperor Ashoka
(D) Gautam Buddha

(W) ST B) wHRE
(D) N

The pietra dura or coloured stone inlay
work on marble became very popular in
the days of :
(A) Akbar (B) None of these
(C) Shahjahan (D) Aurangzeb

ﬁ%ﬁmﬁﬁﬁmgﬂﬁ?ﬁ%ﬁr%&ﬁaﬂ
39T fere T O 7 '

LX) AT T (B)  TWNIT

In which of the following age copper
was first used ? ‘

(A) Mesolithic Age

(B) Neolithic Age

- (C) Chalcolithic Age

(D) Paleolithic Age

frfefe § @ e wF T wm He

T <1 ST e T e 2
@y wrefegs

- (C) TE (D) TR
The first Buddhist Council was held at
which among the following places ?

(B) Pataliputra

(D) Rajgir

(A) Kashmir
. (C) Gaya

30, g FAF A H A,

L

t

NEE
fpm g Al A g
rrerert 'aﬁm\q@wmﬁam@qﬁ |
ToTT Tt fepan &1 7
(A) HfEar T
(B) 374 A IS &
f(g) FHAATCH! TSI
(D) enHmr ‘
During the Dandi Salt March, which
among the following social activist hag

persuaded Gandhiji not to restrict the
protests to men alone ?
(A) Pandita Ramabai
(B) None of these :
-(C) Kamaladevi Chattopadhyay
(D) Madam Cama

wée?%méqﬁﬁwwgé, GERIG
R F=ferfaa 3 @ frgesr s o 2 'mﬁq't-iz'i
(A) TawR @) greme g
©) WEER (DY gue e

When the East' India Company was

established, India was ruled by whom
among the following ?

(A) A Gupta Emperor

(B) A Sunga Emperor

(C) A Maurya Emperor

(D) A Mughal Emperor . _
MM -AEH - Siige froefefen § @
foraeh g1 g% forn oy 2 |
(A) TodraT W

(B) em?mfemw:ﬂ

(C) TH.. meht
~«D) STATH T

The Bhoodan-Gramdan movement had
been started by whom among the
following ? |

{A) Vinoba Bhave

(B) Acharya Kripalanj

(C) M. K. Gandhi

(D) Jayaprakash Naray_a_n
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LX) e SeYd a
(B) <G 3T
(© gwwEgEE

(D) v fiig

Who gave the famous battle cry ‘Chalo
Dilli* ?

(A) Lala Lajpat Rai
(B) Chandra Shekhar Azad
(C) * Subhash Chandra Bose
(D)  Bhagat Singh :
TEER 6 ygelt we sfets fefifeg
49 fora whifd & amer gg 7
(A)  IHrenfies wify
_AB)  oIEE shify
(C) SMGh shify
D) wEwfg
‘The first clear expression of nationalism

came with which among the following
revolutions ?

(A) The Industrial Revolution
(B) The French Revolution
(C) The American Revolution
(D) The Russian Revolution

THR % Freferfaa 3§ 3 Reg sl 3
: méaé%ﬁamamﬁnfwgm?
AR s s, 1047
(B) wra R srfufyem, 1935

(C) se@arF

D) frafmm

Which among the following Acts of the-

Government led to the creation of the
Sind Province from Bombay ?

g

36.

37.

38.

39.

e T

‘.WWWWWW(GMT)

MR |
(A) 4w @%’3%‘@
(C) 7= (D) s%zi%

Indian Standard Time is ahead of
Greenwich Mean Time (GMT) by 5

(A) 4 hours B) 375 hours
©) 7hours (D) 515 hours

F=fafed % @ S sEdEn Ry =
W < Tt anfes e T

(A) V&= (B) 9 o Sqeteem
“46y @i (D) sfteifior
Which .of the following is not - the
economic factor for influencing the
population distribution ? :

(A) Urbanisation

(B) Availability of water
(C) Mirerals | : ol
(D) Industrialisation . o
w e fREe |

(A) WRT AR AT (B) 378 & 1S 7
«C) YA IR EW (D) Juiet 37k Ry
Mount Everest - the highest peak in the
world is located between

(A) India & Nepal (B) None of these
(C) India & Bhutan (D) Nepal & Tibet

Tt § & v “ ST Y Wi
ST R R R ? | '
L) ¥R B T 36 BT gt o areq e
(B) ﬂﬁaﬂtwﬁm_ |
(©) ﬁaﬂ&‘mﬁ—\j@raﬁrmﬂ
O) fEemed. .
Which among the following is the main
reason for “October heat” in India ?

: A) 'L ressure system in Gangetic
(A) Indl&_l.n Independence Act, 1947 (4) . ploaﬁspin India y.r : .
(B) Government of India Act, 1935 (B) Hot and dry weather :
©) Wavell Plan (C) 'Eigﬁlhtem%grature associated. with
. - ‘ ‘high humidity _
(D) Cripps M15519n _ (D) Low velocity winds

e hi04
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41.
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43.

e
(L[]

it §, s RRE  am
3 et &1 ¢ | |

@) fafes @) g SR
(€ Wit (D) qAED

‘At the initial stages of any developing
economy, the majority of activities
belong to the _sector.

(A) Seécondary

(B) Information Technology

(C) Primary "

(D) Tertiary

frfifeag § @ @R @ 8@

e =1 femm an 2
A) Tl IRH AR drgehardt

®) @@
©) Bﬁmiﬁmﬁﬁ%uﬁ%m

(D) f=m

Wifd <l

Which- among the following was a part

of the green revolution strategy ?

(A) Chemical fertilizers and pesticides
(B) . All of these

(C) High yielding variety seeds.

(D) Irrigation '

feferfaa # & fore =) 1 R =T T0h’

 FHEIAAE ?

(A) TR 4B FEA

(C) gt . (D) =EU
Which of the following rivers is known

as the ‘Sorrow of Bihar’ ?

(A) Damodar (B) Kosi

(C) Hooghly- (D) Ghaghara

e i e el @ s e
e H A frar g g R 7
() WRd FIwugald

@®) fmmamE

© fwaRa

(D) Tt e aReg

The final approval to the five year plans
of India was given by whom among the
following'? .- * i '

(A) Vice-President of India -
(B) Ministry of Finance -

_ (C) Finance:Secretary
. (D) National Development Council

44,

46.

() g B T
© g @ FE g
In the Union Executive of India, who
among following is not included ?
(A) The Vice-President

(B) The Chief Minister of States

©
D)

e 3 & i e IS %

27

@«)/Qa.qa.aﬁ.liﬁ. uehe
® fredt "
(C) Y ©e &b

(D) 3T ¥. 37 #1377, &

Which of the following is not a
Commercial Bank ? - _

HSBC
SIDBI

State Bank of India
ICICI Bank

The President
The Prime Minister

(A)
(B)
©)
(D) |
Prferfim & & 9 w1 T o1
IUFA GHE % ded T R FRE7 A
& wfa femmng 7

(A) T swEn @) FHARETR
(€) Autrs frm (DY @i

Which one of the following public §CCt°r
undertaking is established by passiné .
special law under Parliament ?

(A) Departmental Undertaking

(B) None of these

Statutory Corporation

Sole Proprietorship

©)
(D)
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,(\S})l ong the follogzzlg has the right Pn)eumoni‘a affec('E) V?E‘h of the
to s(;tm:p ag High Court in any Union EOAI;OWE;? part of hiimtan body ?
Territory ? ' ‘ i (B)_ Hleant
(A) Supreme Court (B) None of these (C) Lungs - (D) Liver
() Parliament (D) President 52. PrERRemi SRR e
48. 73 @ W a GRS W A E R
éﬁmﬁaﬁamﬂ'ﬁmﬂ (C) e (D) TEEE
P m%aﬁﬁ%? : Which among the following is not a
" . Which of the following article is about plant fibre ?
Establishment ‘and constitl_ltio.nr of (A) Jute (B) Flax
Supreme Court in Indian Constitution ? (©) Cotton (D) Nylon
(A) 120 «B) 124 PN
6 118 (D) 122 | 53. aﬁmiﬂﬁﬁ%ﬁaﬁﬁﬁﬁamﬁ%ﬁ
M. X T e SARIBR H AL HATe ?
FoR AR T wwm @ TR
) e k| S S arEE (D) T A
B yﬁﬁaﬁéqﬁ The colours of the stars depends upon
X0 Fee Teei which of the following ? |
(D) Trgqﬁ‘{ 0, (A) Pressure
S has/have the power to (B) Pollution of the air
implement the Fundamental Right. (C) Its temperature
(A) The Supreme Courtand Eligh Counts (D) Distance from earth .
- (B) None of these | = _
(C) Members of Parliament 54, FrafoRaa 83 @ & € 719 Teitae FifiT &
(@) The President : foru f 27 2 :
So'mﬁ’@qm:{aﬁﬂmm /@H‘ﬂ%ﬁnﬁﬁwﬁa
ﬁﬂﬁiﬁ‘éﬁﬁﬁﬁaﬁaﬂﬂ%ﬁaﬁﬂﬁ%?_ (B) - ATadiS b
sy e B bbbl © dmemEdE
) unwaeE @) fory HATETH (D) UTES i
In India, The National Human ngglts Which among the following gases is
Commission .istryurl)lder which of the responsible for global warming ? '
{lowing mimstr * A) Compressed Natural Gas
i 21) Miiistry of Home Affairs b EB)) Oy gi " PR
., (B) None of these (C) Greenhouse Gas.
B (C) Defense MY (D) Piped Natural Gas
(D) Finance MinlD -
e e s 9 -
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-(0.05)%+ (0.41)*+ {0.073)2

55.

(0.005)2 + (0.041)2+ (0.0073)2
(A) 10 (B) 1000
(_C) - (D) 100

56. 40% =Afth TAER-99 X 9ad & 31 50%

o S WAER-T1 Y Ted & | 10% =
w77 2 g e § | e =fe o A
sof 3 I TEER o T TR

”) |
” X  40% persons read newspaper X and
K 50% persons read newspaper Y. 10%
persons read both newspapers. How
many persons do not read any of the
© newspapers ?

qo*\qB (A) 15%

ad 0 o, a v '
b(ﬁe W (©C) 25% 20% a _997*«*/}1 o
X' 57, @q&qu‘tmaﬂaﬂé%aﬁt%@ﬁmw

A 745 % e o 2
‘The average of 5 results is 46 and that of

g\\k the first four is 45. The fifth result is _ ,'g
(A), 10 (B) 50 ;
1 (D) 125 |
29.9)) 6} 7T
g s V298116 +4/7744 = o Bl
A) 12.62 (B) 14.62
(C) 12.26 (D) 14.26
59, WE‘-T HifdrwT ffa ﬁtr%ffiaa fl a %m?r
Ffgdia 7
@) TS B W

| (© WEw D) T

Plant cell wall is made up: of what

3 _'D( among the following ? |
-—"?;"’ (A) Glucose  (B) Fructose
‘1 (C) Cellulose (D) Sucrose
"‘--(5‘21x532) 29272= oo
B 32 0 (B) 36 TR
(D) 34 g 927%

AR S
(B) 30% -pryzo5t

61. form oy B Tl TG TN 8

(A) qﬁ?ﬁ,wﬁ,m
®) t, e, faw
() v, v, e

m@wﬁﬂ’é’fﬁﬁm@“% ?

Y A -
(B) S - A
€ Ffg-T=
(D) hehl - T

62.

-15"1
Eﬁ

. ‘el gerd geET -agmiﬁaﬁ%:

(A) - TTTER 9 BT |
(B) IEEEE|
AC)  ¥IFT B30 G TH: G M |
(D) aﬁmaﬁﬁmml
6.350 ﬂtﬁ W%ﬁﬂ'&ﬁﬂfﬁﬁﬁaml (Q(
@ Tromd A gi
(B) W&l +=Ry g\&\k fL '
o R | /é?ég/
(D) =g+
65. mﬁwﬁw—mwaﬁﬁﬁﬂ'@
TR 7
T-gW -9

(A) IS -3Fa 7@ Sl
(B) i - Fewa 3R - FeifHd
(©) - 3 1%?81 <l
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Read the passage ca.refully T oew |
correspondmg questions : (Q. 66 and 67) e | 67. Why were the squids collected ?
aroline went on her fi (A) Forselling (B) F N
fishing trip off the coast of Catalisi;;; el?fa;fia (C) For eaﬁn: ((D)) Il;(;?zzti‘g
She had always enjoyed fishing when she was ing
o a child but had never gone fishing in. the
# ocean, Her dad liked to fish very often. Her
big brother Jack was never the outdoor type,
so her dad took her out often. One of his
favourite spots Was 1ake Isabella, which was
about two hours from their home. She recalls -
e, “ag 30 T 3 Qe 1 HA HAH

d her dad would spend a long,

Last week C
68. Give one word substitute for —

“THe practice of writing, editi

aq > t
compiling dictionrcnic:s”g R AR
(A) Le.:xicograplny (B)~Psychology
(C) Biography (D) Philology

N

how she an

leisurely day driving to the lake, and then _

taking his small boat cut on the water- It was qEREErRAe 7 E ‘

quiet and peaceful for the most part. Those (A) et a})/%ﬁ '

memories remain some of her most cherished - © . o) s %
woman, Nilesh said, “She

Pointing to a

er life. Caroline has 2 friend
is the only

s day, Robert invited
y’s fishing

daughter of my wife’s

moments of h
only child.” How is th
?"'r—.

called Robert. On th:

Caroline to join him on his compan

trip. Robert said it wouldn’t cost much but grandfather’s only

" would be a lot of fun. He knew Caroline worman related 10 Nilesh ? )

enjoyed lake fshing and figured she would (A) Wife ~ (B) Daughter / :
(C) Mother (D) Aunt - df

have a great time. “Okay”, said.Caroline, and €

to the ocean they went. . T
20, aTETa ster i /Find odd one out :

The first thing Caroline noticed, however, was
the motion. «wow, this boat really rocks”,
Caroline told Robert. “Don’t worry about it.
You will get used to it”, he said. The trip to the
waters off Catalina Island took about an hour.
Caroline marvelled at-how quickly she lost
sight of the mainland. It was & bit scary when
she thought about how alone they were in this
great ocean. Soon, it was time 10 collect squid
for bait. The small boat stopped in the water
d the bright light into the

the squid. Before long,
d rose to the surface and
bait. After about an hour,
feel the rocking motion
ready to fish. Caroline

thousands of squi
were collected for

Caroline didn’t

8,27, 64, 100, 125, 216, 343
ay 100 (B 343 _—

©) 27 - (D) 125/.

1 S, 2006 1 o | 1 S
2010 B AETE HI BT AT &1 7 ﬁ.;ﬂ—
(A) IFIR T (B) TR 6?
(C) FHEr (D) WER -

Tt was Sunday on Jan. 1, 2006. What was
the day of the week on Jan. 1, 20107

(A) Friday (B) Tuesday
(C) Monday (D) Sunday

Give synonym for the word : “Partial”

(A) Intact (B) nbroken
(C) Incomplete (D Perfect

‘Choose the correct antonym : “Disappoint’

. Satisfy , (B)" Meet
(C) Sale (D) EXamPle

anymore. They were .
caught her first ocean trout. It was a beautiful
day. ' - I i
'66. ' Was Caroline’s brother an outdoor tYPe ?

(A) No Can’t say
. (C) Yes (D) Not specified
e 11
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Frefeiad w1 7 wem for T § ek &

FUHl & w1g e frepret M E | foroeeet
%1 9 3R TR 7 i fp g o Freeet
T 9 a1 fishy a9 | {1 a2l 6
e foru fomm feu e et 6 arfehes €9
QIgEU SR |

%Y : Tft fopared U § | o IR S A
HREEENE S I

e |

I FoFafraed |

I. B et TR G |

Il %o frae sHa d |

IV. %5 fehad it B |

(A) ®aI  (B) FHABETE
(C) Fawl (D) had III

In the following question statements are
given and these statements are followed by
conclusions. Read the conclusions and then
decide which of the given -conclusions

~ logically follows the given statements,

.. disregarding commonly known facts.
Statements : All the books are papers.
Some papers are journals. Some journals
are calendars.

Conclusions:

1. Some journals are books.

75.

II.  Some calendars are papers.

III. ' Some books are journals.

IV. Some books are calendars.

(A) Onlyll  (B) Nonecofthese
(C) Onlyl ~ (D) Onlyll

IR NORMAL #! RPNLBM % &9 i
sifed foran ST 8, @ GATHER &1 i

8T ?
If NORMAL is coded as RPNLBM, then
what is the code for GATHER ?

(A) TBGRFH (B) TBGREH
(c) TAGRFH (D) TBHRFH

g

76.

T

78.

79,

ﬁtﬁ%ﬁ%aaﬁﬁﬁm%mﬁm 2022 %
AT & STEUE AT I Th B FE

Tg1 &= anamg fohaT 7

A T (B T

(C) w4 (D) 3SR

- Which among the following countries

conducted its largest-ever military
exercises around Taiwan in August, 2022 ?

(A) USA (B) China
(C) Russia (D) Israel

3R, 2022 H, WRA 6 TE IHSER
ﬁawmﬁmﬁmﬁﬁﬁﬁawﬁ
ferm e ?

(A) T  (B) TUEE

(C) Heehrdl (D) SR
In August, 2022, India’s first underwater
metro was inaugurated in which of the

following cities ? %@
(A) Pune (B) Hyderabad [EE[E

(C) Kolkata (D) Bangalore

ﬁmﬁ%ﬁﬁﬁﬁrﬂ%ﬂ%éﬁﬁaﬁ?{m
HIH YOI PR fham g 7
(A) FEA  B) =N

-(C) JWa.N, (D) HATST

Which among the following country’s
scientists have prepared first symtheuc
embryos 7

(A) Israel (B) China

(C) USA (D) Canada _
Tt g WG A Fefaiea § ¥ fea
TS ¥ [BX (3fe szﬁm g%nn
=) Sl TR 7

(o) WETE  (B) IWWN

© WM D) T

" Prime Minister Narendra Modi has

launched the IIBX (India International
Bullion Exchange) in which among the

following states ?
(A) Maharashtra (B) Uttar Pradesh

(C) Goa (D) Gujarat -

SISy
FiP\NL,M)

12

T
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80. TSIl T 3T HERHd %.8d w3 wei’ | 83, Frafifaa § @ =9 = wsa s § gEen

aﬁlﬂﬁ%mﬁﬂ%ﬁéﬁ_g?ﬁm%ﬁwﬁm ‘BUER SIS TR TS S T R 7
AR A E : Ay FE . (B) IO
/@ ﬁlmw B) ﬁ%ﬂw ‘ (C) Tian (D) TSEA=
(C) TEHRI AR (P, T W | Which among the following states
<Badhe Chalo’ campaign under Azadi ka Ef;i?flf;‘f;st Har\Gha‘.. it egetiind
* - Amrit Mahotsav has been l.aunched by (A) Kerala . B) Uttarakhand
" which among the following Central © Goa ED) R
Ministry ? : ‘ \]
(A) Ministry of Education - 84. Tr=fafga § & w9 Wra 1 TSIE X TR
(B) Ministry of External Affairs a7 - |
(©) Ministry of Culture (A) ®AR - (B)/HEE
(D) Ministry of Home Affairs (C) =H ) FUE. ‘
' ~ Which among the following is not a
81, W T A S[es, 2022 RN neighbouring country of India'?
A T JARTS R STE H9R I ~ (A) Myanmar (B Maldives
o1 FRIE R | (C) China (D) U.A.E.
(4) WEeRe  (B) A 85. frafiRaa # & fhg LT I WRAF Wm0
© @wee (D) W [ sieMfih @ o wgA % R Al4Bharat 8
The Indian Army had conducted a pan- - oot g’ ﬁ{ﬁ:’;ﬂﬁ N
India satellite communication exercise > 1T '
named__ in July, 2022. , ~A R L5 -ILTRER
‘ : - - (C) NTguEg (D) IIT S
. (A) Spacelight (B) None of these _ Whi ® . :
- i i ich among the following IIT has
(C) Skylight (D) Moonlight launched the “Nilekani . Centre at
' ) A Al4Bharat’ to ad . :
82. NRG % Topd €1 wigdl & s “Teprar TR technology ?0 advance Indian language
qgell IS 13U ?
b ' ?ﬂ 2 PP § _ (A) LT Kanpur  (B) IIT Madras
) EEE] -aga—g . | (C) IIT Hyderabad (D) IIT Bombay
(B) 3TEHGEIG ¥ TRETS | K T B _ :
e 86 mmﬁﬁa@mﬁa@ﬁ_ﬁ
(C) gL H faeedt . : mﬂ?ﬂmaﬁﬁmaﬁ?@qgmm
(D). % § FEHGEIE Wmmmﬁa%mw ?
First flight of “Akasa Air” had been | (&) J@WE  B) Fga
E! inaugurated between which two cities in €y wfa o (D) S
[E¥e India ? ' : A National Conference on Drug

Trafficking and National Security was

(A) Chennai to Mumbai
held at" Chandigarh “under the

(B) Ahmedabad to Lucknow chaitmanship of which Unj
. nion Minister ?
; (C) Jabalpur to Delhi ‘ (A) Amit Shah * (B) Narendra M(:di
(D) Mumbai to Ahmedabad . (C) Smriti Irani (D) Anurag Thakur |
13 04 —_—
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91.

™

i BT # U8 GRO H A
A Y R | 4
(A) 214§ (B) 309§
(C) 18=d APy 2594

is the minimum age for
holding office in the Lok Sabha.
(A) 21 years (B) 30 years

(C) 18 years (D) 25 years
sietiga S Rifvea faw few arE 9
TRITAIE 7

(A) 138 B) 1078

€ 22%% (D) 15 fewar
International Day for Biological
Diversity is celebrated on which date ?
(A) 1 April (B) 10 November
(©) 22 May (D) 15 December
freferfea # @ 9 w1 fave =1 o=@ 5=
TIER ?

(A) TGN (B) el E9
(C) shtm gy ) dd g
Which among the following is the
largest river island in the world ?

(A) Manpura Island

(B) Majuli Island

(C) Srirangam Island

(D) Lulu Island

fFeffan d a g A g g g 7
(A) A wifie (B) 3 A 18 &

AC) Efermsu (D) e ds

What among the following is the
national currency of Hungary ?

(A) Hungarian Forint

(B) None of these

(C) Hungarian Naira

(D) Hungarian Pound .
TAAAT oSG WINT & IR R & WA

T T 1 10 qaT3T | -
(A) FwwE  (B) T
©€) =y (D) ¥

Name the first state in India formed after
independence on the basis of language.
Andhra Pradesh' (B) Goa
Maharashtra (D) Kerala

e o

g

97, freferfan #f & fora WiHg G Ty

93.

94,

5.

(A) TETeHT M

(C) T AW HHh

AK) AT

fo5 g orse’ faeli @ 7 _
e (B) TefigATe &R
(€) w@mhfRFEg (D) TR

Who among the following wrote famous
book ‘Powers of the Mind’ ?
(A) Mahatma Gandhi

(B) Rabindranath Tagore
(C) Swami Vivekananda

e

(D) Gulzar

UNFCCC w1 31 fimfeflaa da =g 7

(A TTEEE A HSWH HewH A
FATgHE o

(B) IATEE IH HEWH HEHE M

HEANE 3
ENIECCAC I :
(D) IAEEE X WHAD HISAA 3
UNFCCC stands for what among the -
following ?
(A) United Nations Federation
Convention on Climate Change
(B)  United Nations Federation Council
on Climate Change S
(C) United Nations  Framework
Convention on Climate Change
(D) Unrited  Nations Framework
Council on Climate Change

A frafafaa & & ffe v =1 A
TR ? |

(B) MWW

(C) += (D) HAlH

Nautanki is a folk dance of which among
the following states ? K '
(A) Uttar Pradesh (B) Andhra Pradesh

(C) Kerala (D) Karnataka
Sl iefers @il w1 TeeE
R |

(A) T - (B) T 9 SIS 1ol
M el

(D) WA |
The - headquarters of International
Olympic Committee is at :
(A) USA (B) None of these

(C) Switzerland (D) Germany e
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R =1 g HET HHaAT R 7 SR Tgw
fﬁﬁ%ﬂﬁﬁm’ﬁ@m%laﬁsﬁﬂﬁ /&Mgﬁz"‘aﬁ(w e
gy el il B | Hiieed I ki (B) St arr
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75 i T R <t i S ’ (C) Tg = sfied STEedle |
- i %ﬁ;aﬁm%awﬁwgl -%W’m’w—m
St | o,
%ﬁ%ﬁmﬂw [ & | mm%ﬁ’:m@‘;ﬂqﬁg,
ot e, e e, G
e 2 3T e % AfeeTPTl 100. wrfeed 31e el ST ST Hehel fo=m,
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